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Question 1:

Find the coordinates of the points of
intersection of the liney = 2x - 1 and
the circle x? +y? + 3x - 2y - 153 = 0.

42~ 11-3 Bronze Outcome 1
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Question 2:

Find the value of value of k such that the
equation 3x? - 4x + k = 0 has equal roots.

4%~ 8-4 Bronze Outcome 1

Question 3: /2~ 13-2 Silver Outcome 2
Calculate;

f cos 6x dx
Question 4: 43~ 10-2 Silver Outcome 2

Solve V2 sin2x = 2cosx for m< x < 2.

Question 5:

Solve the following logarithmic equation.

log,(x +3) +log,(x + 1) =3

- 14-2 Gold Outcome 3
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Question 1:

Givcn(harcoao-_zmdo<o<g

Ve 2

find the exact values of sinD and cos2D. )]

Question 2:

(a) Express 3cos(x°) + 5sin(x°) in the
form kcos(x°® — a®) where & > 0 and
0<a<90. 4

(b) Hence solve the equation
3cos(x®) + 5sin(x°) =4 for 0<x<90. 3

Question 3:
The graph illustrates the law y = kx".
logsy
B(0, 1)
O A(05,0) logs x

If the straight line passes through
A(0-5, 0) and B(0, 1), find the values
of k and n. 4
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